M. Munenkosa, O. Hlupokas. «Maremarukay, Ne 17/2000

CoeauHnTe nocrnegoBaTenbHO TOYKMU,
KoopaMHaThl KOTOPbLIX Y3HaeTe,
peLUVB BCE YpaBHEHUS:

x
1. 2x+19=5x-16 (x; 1)
2. 8 —-25=3x+20 (x; 0)
3. 6-y=3(3y-8) (5:7)
4. 5py+1,2)=Ty+4 (1;y)
5. 4x—-3)-16=5(x-5) (x; 3)
6. 3x—17=8x+18 (x;0)
7. 11-5y=12-6y -3:»)
8. 4y+(11,8-y)=3,8-5y (1;»)
9. 3x+16=8x-9 (x; 1)

CoeauHnTe nocrneaoBaTenbHO TOYKM,
KoopAMHaThl KOTOPLIX y3HaeTe,
peLUVB BCE YpaBHEHUS:
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1. 3x+5=8-15 (x;0)
2. 3x+16=8x-9 (x; 4)
3. 4+25y=6+24y 2;y)
4. 4(x-3)-16=5(x-5) (x;3)
5. 5x+27=4x+21 (x; 0)
6. 43-2y)—42=23+2y) 3y
7. 3(4x—-8)=3x-6 (s -2)
8 1-5(1,5+x)=6-7,5x (xc; —4)
9. 3(5-x)+13=43x-79) (x; 0)

CoeauHnTe nocrneaoBaTenbHO TOYKM,
KoopAMHaThl KOTOPLIX Y3HaeTe,
peLUVB BCE YpaBHEHUS:
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1. 15x-3=10x+12 x 1)
2. 2x-25=-5x-17 x; 1)
3. 46-2)=2(1-y) Gy
4, 3y+16=8y-9 (1;»)
5. 4x+(11,8—x)=3,8-5x x; 1)
6. 3y+22y-3)=8-70-2) (-7;p)
7. 2-5x=x+14 (x;-3)
8. 5(0-7=3(r-4)-29 2;p)
9. 11-5y=12-6y Gy

CoeanHnTe nocrenoBaTenbHO TOYKN,
KOOpAMHAaTbl KOTOPbIX y3HaeTe,
pewnB BCe ypaBHEHUA!

1. —12x-3=11x-3 (x;2)
2. 1,4-0,6y=0,7-0,5y 2; )
3. 16-3x=4-"7x (x;2)
4, 4x+(11,8-3x)=5,8-5x (x; 0)
5. 4p+12=3y+8 -5;»)
6. 3(4x—-5)=3x-6 (s -2)
7. 3y—-17=8y+18 6;y)
8. 0,18x-2,83=0,19x-2,89  (x;—4)
9. 5v+7)=3(y+4)+27 0; )

CoeanHnte nocrnenoBaTenbHO TOYKN,
KOOPAUHAaTbl KOTOPbIX Y3HaeTe,
pewunB BCe ypaBHEHUA!

CoeanHnTe nocrnegoBaTenibHO TOYKN,
KOOPAUHATbl KOTOPbIX y3HaeTe,
pewnB BCe ypaBHEHUA:

CoeanHnte nocreqoBaTenbHO TOYKN,
KOOpAMHAaTbl KOTOPbIX y3HaeTe,
pewnB BCe ypaBHEHUA!
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1. 6-2y=8-3y (1;p)
2. 15x+3=10x-12 (x;2)
3. Sx—-1l=-6x—-12 (s —1)
4., 3x+5=8x-15 (s =1)
5. 5(x+3)=27+3x (x;2)
6. 3y+(@4-2y)=6 (1;»)
7. S5y—-(13+y)=y+14 (1;»)
8. 3(2x-4)-2(x+3)=-2 (x;4)
9. 4y-3=2(7-y)+1 (1;p)
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1. 6x+10=4x+12 x3) | 1. 3x=5+10=2@3+x)-14 (x;1)
2. Tx+25=10x+16 (x;6) | 2. 1,22x-4)+0,6=3x-3,6 (> 1)
3. 3y+16=8y-9 G;y) |3 ley—4=12y+38 Ly
4. 04(6y—-7)=0,53y+7) G;y) | 4 5(7T-2x)+13=9x+48 (x:3)
5. 42-x)=72x-4) (x;8) | 5. 4B3-Ty)+10=-10y—86 Ly
6. 32x-1)+7=4 (x;6) | 6. 6y—T72=4y—-56 ©O;y)
7. S5y—-T7=11+2y Ly | 7. 5x+(13,4—2x)=16,4x (x:5)
8 96-(2,6—x)=4 (x;8) |8 12—(4x+5)=T7+x (x:3)
9. 1,7-0,6y=0,3-0,4y (-6;) | 9. S2x-3)+11=6x (x;3)
10. 17—-4x=5—-6x (x;5) [ 10. 2(7-y)+13=y (1;p)
11. 2,8-32x=—4,8-5,1x (x;6) | 11. 5-32x—1)=4x-22 (x; 1)
12. 0,2(5x-2)=0,32x-1)-0,9 (x;3) | 12. 1,2x—7=6x—-16,6 (x;0)
13. 2y-1,5(y-1)=3 (1;p) | 13. 21,2y +5)-1=2y+6,6 2;»)
14. 1-5(1,5+x)=6-17,5x (c;—4) | 14. 1,7x+ 0,9 =2x (x;=7)
15. 3y—-18=8y+ 17 4;y) | 15. 9-2(x+4)=2x+13 (2 =7)
16. 4(1-0,5x) =-2(3 + 2x) (¢;=7) | 16. 42 +3x)+11=-15x-3 (x;-06)
17. 5x+27=4x+21 (x;—4) | 17. 5y +12=-3y+12 -2;»)
18. y—15=4(3-2y) (-2;») | 18. 023y +2)=2,6y— 1,6 35y
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